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e Please check that this tion paper contains 15 printed pages.

e Code number given @che right hand side of the question paper should be
written on the titl&age of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i) 3T Y¥7-9F &1 qiel G777, 3, §, G, ¢ AN T F FieT T 8 | 9H @HT 97 F FEH
& I fer@d 8 |

(i)  @gt go7 SHar &

(iii) Y&, G, ¢ 3K T & o] 7 3Rk =7 397 T 8 |

(v) YT 37 & Y97 G&I1 1 3K 2 UH-TF 3% & Yo7 & | 39 I Uk I 379a] Uh
FIFT G 378 /

(v) YT T P JoT GEIT 3 &5 3-31 3Pl & 97 & | $9% I TTHT 30 951 I4% 7 3
g/

(vi) YT § & F97 G&IT 6 T 15 TiH-T17 371 & F97 & | §9% IR FTHT 50 9I55) Fe3% 4
GTE

(vii) YT § % Jv7 G&IT 16 & 21 Tia-7ia 371 & Jv7 & 1579 I YT 70 5G] FAH
718

(viii) T T & 97 G&IT 22 G 27 FAVTcHF HIA W HTIRT 31-31 7] & 97 & | 579
Gl 3T 37 & Q

General Instructions : Q

(1) The question paper com s five Sections, A, B, C, D and E. You are to
attempt All the sections >

(it)  All questions are con@sory.

(itt) Internal choice is n in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or.in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

HOT A
SECTION A

1.  gfqueg & gfdmr e R s@en S.1. 9 fafgu | 1
Define resistance. Give its S.I. unit.

2. B fordl @ awi @ Tm fafee e s @) At & dfeted (W) #°
fepar SaT 3 | 1
Name any two elements that are used in fabricating solar cells.
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SECTION B

3. YR o YUedd & 4w fafau 2

HAAAT
et saadares 6t ity faRew oik 38 7Tt €9 § =@ hIfee | 2
State laws of reflection of light.
OR
Define absolute refractive index and express it mathematically.
4. Tt B g & IR SR R 8 W@ S | 2
Draw magnetic field lines around a bar magnet.
5. o Bl @ o fpel wEet # W T Nifte Yol (SATE) # e
W5%aﬁaﬁ%ﬁlﬂnqﬁﬁzﬁaﬁﬁm@w%?wﬁﬁaﬁwﬁ
YRl O 1T hifNT | 2

What happens when 5% alk\@ potassium permanganate solution is
added drop by drop to w a@; propyl alcohol (propanol) taken in a test
tube ? Explain with the of a chemical equation.

Q
§$ qHT A
SECTION C

6. Shamm w8 2 SHargmi A oy fuftr s it @ fafee o @@w d qui
HIT | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.

7. A % [USH @ TERA 900 799 YT o fO&I90T 1 A1 HROT & ? T gE b
oy TH Y 3edl fufd 4w @ wdem ww & ndl & fedt wee W
feieha: Tfad Yoid YehIeT o WEH 99 o 99 Wl QU o ToC fohul 3@
Hifa | 3

arerat
SRTST ST TEhIU T & ? 36 TICEISAT o1 SUANT Shieh SARSAT hitvg Tk (i) FART
% T FF @AW R YA g g, a9 (i) Tes TR e ®&It Wdid g
g 3
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each

other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms.

OR

What is scattering of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

8. (a Tr=faRaa srfufsranst &1 fafte v & affertor hifse -
i  AgNOj(aq) + NaCl(aq) — > AgCl(s) + NaNOs(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(iii) 2KClO5(s) —2— 2KCl(aq) + 309(g)

(iv)  Zn + CuSO4 —— ZnSO4 + Cu
(b P o 1 s o Gl % w9 i et S
S FeivTes, A Ao 4 SR s S T
A 3
@ AT

9 fope el § oig (1) A8 1 foetay oieht 390 IRy TRIeEs i
oo firema €, 9 I8 SE8Y sHAT B |

(a) 39 STFEY 1 FI1 T BT 8 ? I@&TUq e 1 9 fAfaw |
(b) 39 ATk &1 Tgfcta TETTS Tiehtor fafean |

(c) affshan o 3 < Wil 1 gt sARy od 38 stfufsean i war =
Tl 3 | 3

(a)  Classify the following reactions into different types :
i  AgNOs(aq) + NaCllag) — AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClO5(s) —2— 2KCl(aq) + 304(g)
(iv) Zn+ CuSO, —> ZnSOy + Cu
31/4/1 4
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(b) Translate the following statement into a balanced chemical

equation :

“Barium chloride reacts with aluminium sulphate to give

aluminium chloride and barium sulphate.”
OR

When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(c) List two types of reactions in which this reaction can be placed.

& Fafyg. gwE T8 6 I St SAasiaenst @

9. (a) YIS TRl
frafir wwrg i mwa(@\;ﬂ ? L

(b)  3T9UeH 9T & ? e A | STTEICEhi ol qUT €9 § I o e
m,a‘rww@maﬁm?aﬁw%ﬁwﬁ?ﬁﬁml 3
@$ S

JYATSA o IAW T T 3HEH fhH TR It B 2 3Hh Wed hl 3g@
HIRT | 396 W F R TR 2 ? AT H TH FIAR IS
fafeT | 3

(a) Natural water bodies are not regularly cleaned whereas an

aquarium needs regular cleaning. Why ?

(b) What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give

justification in support of your answer.
OR

How is ozone formed in the upper atmosphere ? State its importance.
What is responsible for its depletion ? Write one harmful effect of ozone
depletion.

P.T.O.
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Thafedt ot we 29 % fory gieret foret waa areet <1 Swim &»ed |
(a) 39 UISEL I 919 R Tt g7 foafeaw |
(b) 3 YIS i Tohd T ST T & 2

(c) 19 39 Yod IS i UHI o &1 AT M1 &, I Th Hak 3™ Yvg T
BIAT 3 | 39 Ui o o dgferd Temifes gefenn fafEu |

(d) 39 39d YIS I his Uk 3T 39 fafigu |

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is

obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.

11. ﬁgﬁﬁﬁﬁﬁﬁ?aﬂﬁﬁé‘fﬂ@%ﬁ@ Tod iHIe 8 TG 8 | o= g e
forelt yoa B graeh i Q,
(a)  Fvseh F a@?’m ?
(b)  Usell & STEREET ST 2
(c) FPpusa o it oo wansmem 2
Tk &1 T HRO-Afed e HfT |
A coil of insulated copper wire is connected to a galvanometer. What
would happen if a strong bar magnet is
(a)  pushed into the coil ?
(b)  withdrawn from inside the coil ?
(c) held stationary inside the coil ?
Give justification for each observation.
12. (a) W4T IMER 91 ° F=faiad & s fafiaw
(i) R (A W)
(i) SR H HCI
(i) o=@
(v) 4w
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(a)

(b)

13. (a)

(b)

(a)

(b)

fafafaa womsal @ g 1 T S fafge
G  ufem
(i)  TEUS 3

Write the function of the following in the human alimentary canal :
) Saliva

(ii))  HCl in stomach

(i11)  Bile juice

(iv)  Villi

Write one function each of the following enzymes :

(1) Pepsin

(i1) Lipase

wTed (i) B e o TE A, fe ofl, AR e el daesier Tew
! T R 7, o 3Gh! aferR H V0T S I UREdT Bid @ | SaTedl
SHIfT foh I8 UTgU STRI LU o |y TohH Tehi Ik hial B IR T
ket fohe TohR F=TTE Bt 2 |

34 gra o1 A fafge frfafaa & foe fen smar 2 -

() foel o N o i gl ferw |

(ii) Wﬁsﬁia@ﬁaﬁﬁwﬁwaﬁaﬁaw%%m 3
Plants do no@ve any nervous system but yet, if we touch a
sensitive plﬁ} some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.
(i)  cause rapid cell division in fruits and seeds.

14. 39 ffayar fpa wgq @ 2 91 =1 “S9 fafaygar & foau fafsme woa” w1 g

AT 8 ? SHIE o TolC STERT 31 hiehi i Fi I9ET | 3

What is biodiversity ? Why are forests considered as “biodiversity hot
spots” ? List two factors responsible for causing deforestation.

15. dfshrar Joft & ged SR o arqett & fasedur 6t fafy, afserar soft & aex
H e argatt o fseedu 61 fafy @ form yoer fira B 2 3o6 forw oft s wfsean
FI TR TR ST g ? 37 9Tq3T o RN sh AfshaT w1 9 fIRa | 3
How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process

not be applied for them ? Name the process used for the extraction of
these metals.
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SECTION D
16. (a) TEOHU IR AgHHw Afufhaet & =, g% & o gt
THteRToT 1 FETEE |, fawed Hifsm |
(b) THIfhd AN@ % Y TEX SHMH o Ueh [hAThA™ 1 T&T H-FoH
hITTT. |
HAUAT
T R TqHTSIh § 91 =W & ? Forell a8 W & faepds -6 gedl &l e |
T <h1 THT3 TR o1 GaY | 3Ig@ HINT | T9 9% I Hl 9d H €T grar
8, O T 1 ITANT Sgd TWIE FAT AG1 BT ? 3 G 1 THIEH 8 TR
fora ST B 2
(a)  Distinguish between est@Qﬁcatlon and saponification reactions
with the help of chem@l equations for each.
(b)  With a labelled %@am describe in brief an activity to show the
formation of a er.
$ OR
What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?
17. I3 sAfed 3194 HA ° 50 cm W A gl hl SGHT 1 T A& <@ Wl |
(a) 9 Afd o 3 Q¥ 1 AW fAIRGU 3R 39 W & & FWIfad SR 6
eIl ST |
(b) YT TRV H Y i g & foru fopeor s Wit |
(c) 39 QN o HRNEA o T 3Gk GHT ITAM ThU SH T T 1 TR
fafau ik 3ueht gmar gfefad VT | 74 e foh 9@ 99 &
e F@l@ 25cm? |
(d) ST TRl | gfed I o TG oh fOIQ AWIfha TR@ T |
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A person is unable to see objects distinctly placed within 50 cm from his
eyes.
(a) Name the defect of vision the person is suffering from and list its
two possible causes.
(b) Draw a ray diagram to show the defect in the above case.
(c) Mention the type of lens used by him for the correction of the

defect and calculate its power. Assume that the near point for the
normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the
above case.

18. (a) 3Afg foreht Iwa o1 Soleeiies fa=am a2, a1 SHehl TSIk fohT TR
frgif@ &t I & ? 39 a I GAISEhdl Hgiia, hiNT e 9w

SHUTH 97 |
b) = smyfe sad areft % $o o U T R 15T T S A i
shiseeh 1 faar e B
A(4), B(9), C(14 9), E(20)
(i) S Wﬁmaﬁﬁnﬁsﬂﬁﬁﬁmaa%

(i ﬁ.a@x%\aww( ) % ¥ 7 o) s 3 W A w

(iii) IUYFd aeAlH & AN A b fohd T h! THATTR B 5t 7
3R 7312 5

(a) How is the valency of an element determined if its electronic
configuration is known ? Determine the valency of an element of
atomic no. 9.

(b)  Given below are some elements of the Modern Periodic Table.
Atomic numbers of the elements are given in parentheses :

A(4), B(9), C(14), D(19), E(20)

(1) With the help of the electronic configuration, find out which
one of the above elements will have one electron in its
outermost shell.

(ii1) Which two elements belong to the same group ? Give
reasons for your answer.

(iii)) Which one of the above elements belonging to the fourth
period has bigger atomic radius and why ?
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(a)

(b)

(a)

(b)

(a)

(b)

31/411

fora wifea <t aftwmr dfSg | Sieear v & @ & ol @ @9 R
gy o1 1$ forgq @lRE g Toar @ | g 3 iy & wdi § wfed
% foru =iereh =geae i |

100 W; 220 V 3R 60 W; 220 V TJHdT o & ToEq S 919d § 220 V
% fogd e @ gl 8 | Sedl g 59 | ot it g 5 i | 5

HAAT

Toret s <Al TERdT ¥ 19 I8 ey forg yeRr femreint fom v diee
forelt St @ 2ofishn o TafSia @9 gfatieshi Ry, Ry 3R Ry - 9HUY &
Tcdsh W © A 910 YaTigd aidl 8§ 2

Fra feu e uftuy o1 3reweE W, Efaiaa e

i) 12 QUfgs & yaTEd 9 |
(i) Aq 3N Ay UTeh! § 3=, IRHE 2 | 5
AN

S

Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
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(a) How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Rg and Rg in series connected to a battery of V volts ?

(b)  Study the following circuit and find out :
) Current in 12 Q resistor.

(i1))  Difference in the readings of A; and Ay, if any.
24 Q

Cap 8

+
T gv g 12 Q
p—
— @®
N
— &)
\.../ (g

<&

20. (a) IR YadA i g fafean | saeht @ fafet i =t ST |
(b) D TR b HIEU hI"ITH o foTw 38 Taem =1 Iu=i =i foharm Siram 3 2
(c) HIfehd ARGT <l TERAT | TESl § Gpod hl Ufsham i =

ili\an 5
sreraT
iy ford had 2 2 gweh! 9w fafia faftrer 6 g=ht s | it gt
A & IR G99 HRor faafEy | 5

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.
OR
What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.
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21. (@) WA % H Y WA ¥ ¥ @R < 9 agen Hi g sEe S
ALY Hed 4 379 TA | fomam o | Hed o T g hd Udl Il
op o1 g} SFrEm ST BId 8 2

(b) Va8 W@ hH HEEAl U U I8y Tfuq a1 fo Aqa § foref
TSI T o fog[g 9 & A 94 g AR Aa-fuar § 9 feeht @t o,
JaoTTd o ferdt foiw fomm o fofu, SowerRht 7€ wm T S gehat © 2 5

(a)  List two visible traits of garden pea that Mendel considered in his
experiments. How do Mendel’s experiments show that traits may
be dominant or recessive ?

(b)  With the help of a flow diagram, how would you establish that in
human beings the sex of a newborn is purely a matter of chance
and none of the parents may be considered responsible for a
particular sex of a newborn child ?

IO
Sg@%TIONE | |
22. I3 BT INIH FANEES ﬂ@q@%ﬂﬁ gothe qr3el fUarar 2 | 9 el arsed

EARCSIEICC TP RN TEIUL HUM ? U4 I H gfee Hifvw ik
WW%%%@!W&H JehT I T Hehdll & | 2

%’ AT
(a) frAfaRed o@ell = I AGRTIGA % ARE (Jgd) WA |
Wﬂﬁ%ﬁﬁ?:
I, feh, TIMiem qen s
(b) HIR Fohe faeeH # dg 1 W e & 30 fie & wvemq stot
AIegs H Yalag fhT M aTel &F J&0l <l F= S5 | 2

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron
(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.
31/4/11 12 _
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23. I3 faoE X pH 9 W 3Weh! hI3 8¢ TR W TR0 T <41 g, Faih Hig 314
faeraq v’ pH v W 38T g TR 92 goeht el T1 a1 2 | 39 gl foerAt i
TR 1 7 2 X AR Y Tl o pH Faifa i | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

24. Ffaflaa oo sm@ 1 steged AT R 38 T § 3 gl Wi 3@
FfeAt &1 g s | forw AB i fRufa % dggEy s 9 dfdfaes 6
aredfass feafa o T1ss i gurid o fow @ fopwor @ Eiwen 37 Feai =t
Tenfea HfT | 2

A
F, 2F,

Q\Q arorat
ferelt BT 1 fopedt % TI5H @ o areft foRtor @1 9y oifgd T 7 |
3= Ui e % ToIC. 35eh g1 Rt S aTelt =R daentE i g
AT | 2

Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct
ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR
A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.
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25. foreft ufeioss o i W favarm &t w8 yarfgd faga g w fofa &
e A & fore Fefafga oS- syeeen (ufigy) € 2 i =i 2 2

+ —
+ + +
HHH= HHH= HHH=
A B C
Which one of the following is the correct set-up. for studying the

dependence of the current on the potential difference across a resistor
and why ?

.
L A e e
o Do I B

J s
=
D

i) €02 Cand) L
—HHH = HI S =0 o=
A B C D
26. “Tdl ! oA o foqu-fereft u=ht <1 forgl o1 oTeomft STRIgYr R st 9= <Al
fafer o spHeR 9 = fafgu | 2
STt

“SIPa BId SIS e SEATIAEE BISd &, IH QUM hl JUHINGh el &
Tated Feffad T 1 o 3T G
() B9 VAR FATh ol dTIeg F1 T&d & ?
(i)  SFETHR TR o Wi W B Wadell § W AW arel qgred 1 914
3R 3ITh! YfirRT TAfau |
(Gii) T Ff 4 9t SR F= =g A @ 2 2
Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR
131/4/1 | 14
Download all NOTES and PAPERS at StudentSuvidha.co


http://studentsuvidha.com/
http://studentsuvidha.com/

55

bic]

ke
In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :

) Why do we keep the conical flask airtight ?

(ii1) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii)) Why does water rise in the delivery tube ?

27. 3 Y& hl T FARY ek YR W g Ty fshren 5 @k fo < R
TTES SIS W fgued quid § | 2

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

N
Q
S\\
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